The main idea of both the reading and the lecture is whether travelling to mars is feasible or not. In this regard, the author maintains that sending humans to mars has several problems that themoonthe moon mission did not. The professor, on the other hand, strictly challenges whatever contended in the passage by citing three technical reasons. 
First, both the author and the professor talk about the vital human needs like water, food and oxygen. As claimed by the passage, the trip to mars Mars will take much longer than the moon mission and for a journey this long, current spaceships don’t have enough space to carry these essentials. The lecturer, contradicts the author’s view and explains that with hydroponic planting hydroponic crops in water instead of soil, spacemen will be able to use the crops as food. Besides, plants absorb carbon dioxide and release oxygen. Also the crops will vaporize and produce clean water, so they can drink it.
Second, both passages discuss the zero gravity environment of space. The passage mentions that zero gravity has many negative impacts on human body, namely decreased muscle and lower bone density. In contrast, the lecturer explains that astronauts have previously spent several months in this situation; and during those months, they have learned techniques to cope with such environments. Also, they can take vitamins and minerals, such as calcium to prevent the decrease of bone density.

Finally, they discussed the dangerous solar radiations. The author claims that building a shield in spacecraft to prevent those radiations cannot be realized because it will add to much weight on spaceship. AlthoughHowever/Conversely, the professor rejects this by claiming that the solar radiation level is not always hazardous; additionally, by adding a monitoring device and a small shelter with reasonable weight, they will be able to detect radiations, and be able to keep themselves safe in the shelter.	Comment by Hamed Aalaee: Avoid using Sentence Fragments! 
All in all, while the author mentioned that travelling to mars is not feasible, the lecturer puts a question mark on it by disapproving all the points addressed in the passage one by one.;
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You have successfully selected the important information from the lecture and coherently and accurately presented the information in relation to the relevant information presented in the reading.
There are minor grammatical mistakes.
[bookmark: _GoBack]You should manage the time through further practice! 
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